Test Paper |
. GEOGRAPHY
K-0817

Test Subject

Test Subject Code :

Test Booklet Serial No. :

OMR Sheet No. :

Roll No.

(Figures as per admission card)

Name & Signature of Invigilator/s

Signature

Name
Paper
Subject

Time : 1 Hour 15 Minutes

Il
GEOGRAPHY
Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

e prrert SeuRne
1. S Du3T BN, WIS :j;ézﬁ@ﬂ Qe Beeer® aﬁowda’;&uo”c@o@.
2. B®EICI0 WI 03, AFT 0T @jeiﬁ#aii LERRORT.

3. Boesed TR, TR RRTRCTRDYTD. TS FWTHE,

o) a’g)géofoazt BB000 32 FINF0E BN TOCETO FRETTONG,
(i) =3 BRI FBemoesso3 Trohwd, Bt BROE PUE eSS SIS
w(’w6€ Newb TOCWD. AFT® A QT WD O BRFOWIY
R, ORI,

RIS FIv Koad w08y N Fosd 30w FwadTrn e
BB FRIe00M To¢ R0, Frinsd/ DI ForeIRT,
BT aﬁs ST WRTTODINOT ST V3T 3R FI3
BRCTHTPOS PRFoLI 3AB/S5 AWTE BHQ W, RoDeFFOR O

(i)

BT PHRIR WTTIRFRY WD, B WeT FF T T,

WRSRRRRTRRE, cRmte S THobTRA SRR,
4. Ze3RoDTIRA(A), (B), (C) R2(D) 20w Hchaas me Fednrad
VIOV, ez ﬁé’oﬁn 2T FOCINT YUZTT F0eeS, T ToBRTS
@omﬁeo&)& 61?\ z:?efb
® ©

emmadﬁ
(C) Roc3ns m‘éo’mﬂmar{

5. a’j‘ai =83 | dg é@%&d OMR emgd ToPod , géﬂ =83 | 3933
ﬁs" B8E Il 8O o= wénem am wszsmm :Lmazssm OMR
meﬁo&)@ @omééoﬁaed zﬁed c&a@de N‘%}d@ ma’o’d& Kadaéadé

930 dj’a@dr 3 mdmrb@a@

OMR ema’d TIODY | 3R, Nmzéﬁr{%fab 2ZINBRTICW0T WO.

QR z's)ddo %emd& %éca‘o ER00Y, :’mcﬁ:a’éd)

8. :vd% (NS S) u?:oo’crfo,@ umomd Dd% ﬁ j00 ©9Fee cIRw)TIe
a%ﬁcd:sfo Norf:a’md N%ﬁ TRTD IRy, OMR wéo’ TP cdn)TIe
mrﬁd@ wddd ey) eﬁﬁre’ﬁ WRGZTINTYED.

9. wéeiod:o SONTI0ST, ém@o&)Wﬁ OMR mgo‘ weﬁc\‘b@( zicméj@ﬁ
ey GoodONRIesd 08y Toesy, Frsred B0t OMR &) d@gedn
BROBROIBRTET.

N o

10.

RRREOT SRTEROT T NWBITD.

e/ 3R) LR T’ I SRI[e womedReN0.

nﬂo%efcéscc, &m%m@a LUTTTED T TON® 83eSF faaﬁacdo

emaioimﬂdag RIS,

13. 70 wOE ISRV 93050 Wos VDR,

14, 33® 02 Bonewe Gne I ISINVY, wRYHe De3cdh FT AN
FoRo0BY , VONTE BHINYOTOPY e ©od=0Zomd FonedHLIesd.

11.
12.

Boede 3030, Toem T3 By L Fgeo OMR ©uI0 Toeena,

Instructions for the Candidates
1. Write your roll number in the space provided on the top of this page.
2. This paper consists of fifty multiple-choice type of questions.
3. At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of the cover page. Do not accept a
booklet without sticker seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.

4. Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on
the correct response against each item.

Example : @ ‘ @

where (C) is the correct response.

5. Yourresponses to the questionsare to be indicated in the OMR
Sheetkept inside the Paper | Booklet only. If you mark at any
place other than in the circles in the OMR Sheet, it will not be
evaluated.

Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

9. You have to return the test OMR Answer Sheet to the invigilators
at the end of the examination compulsorily and must NOT
carry it with you outside the Examination Hall.

You can take away question booklet and carbon copy of OMR
Answer Sheet after the examination.

. Useonly Blue/Black Ball point pen.

Use of any calculator, Electronic gadgets or log table etc.,
is prohibited.

Thereis no negative marks for incorrect answers.

In case of any discrepancy found in the Kannada
translation of a question booklet the question in English
version shall be taken as final.
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GEOGRAPHY
Paper — I

Note :

This paper contains fifty (50) objective type questions. Each question carries

two (2) marks. All questions are compulsory.

1. Which of the following is the major
source of irrigation in Karnataka ?
(A) Canal
(B) Well
(C) Tank
(D) Tube/Borewell

2. Narcondum refers to
(A) an iron ore mining region
(B) an island in the Andamans
(C) a mega thermal power station
(D) a peak in the Lesser Himalayas

3. ldentify the correct North to South
sequence of the given biomass/
vegetation zones
(A) Rainforest — Steppe — Savanna —
Taiga

(B) Taiga — Savanna — Steppe -
Rainforest

(C) Taiga — Steppe — Savanna —
Rainforest

(D) Savanna — Rainforest — Steppe —
Taiga

4. Which of the following does not occur
in the Atlantic Ocean ?
(A) Mindanao Trench
(B) Puerto Rico Trench
(C) Romanche Gap
(D) Telegraph Plateau

5. Which one of the following States has
the highest Sex-ratio in India as per
2011 census ?

(A) Assam (B) Bihar
(C) Kerala (D) Mizoram
K-0817
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6. The sequence showing first, second and
third countries respectively in the World
in Wool Production is
(A) Russia — Australia — Newzealand
(B) Australia — Russia — Newzealand
(C) Newzealand — Australia — Russia
(D) Australia — Newzealand — Russia

7. Murmansk is famous for
(A) the export of crude petroleum
(B) the fur trading
(C) the import of gold
(D) the export of electrical goods

8. Pair of ports which are leaders in the
export of Tea in the world is
(A) Chennai and Kandla
(B) Colombo and Kolkata
(C) Vishakapatnam and Bangkok
(D) Paradeep and Shangai

9. Po valley in Italy has industries and it
lies in
(A) Central Italy
(B) Southern Italy
(C) Northern Italy
(D) Central Sicily

Which five year plan brought the
proposal to set up growth centres for
regional disposal of industries ?

(A) 5" Five year plan

(B) 8" Five year plan

C) 7" Five year plan

year p
(D) 3" Five year plan
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12.

13.

The first attempt to divide world into
natural regions was made by

(A) A.Hettner

(B) A.J.Herbertson

(C) Vidal de la Blache

(D) A. Geddes

Identify the correct sequence of urban
development.

(A) Town, city, conurbation, megalopolis
(B) City, town, megalopolis, conurbation
(C) Conurbation, megalopolis, town,

city

(D) Megalopolis, conurbation, city, town
Match List — | with List — Il and identify

the correct answer using the codes given
below.

List—1 List—II
(Zones as per (Dominant
Concentric zone activity)

model)

I. First zone 1. Middle income

residential zone

Second zone 2. Zone of Transition

lIl. Third zone 3. Zone of working
men homes
IV. Fourth zone 4, CBD
5. High income
residential zone
Codes :
I Il 1l v
A 2 3 1 4
(B) 4 2 3 1
© 5 4 1 2
(D) 1 2 5 4
K-0817
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Consider the following statements and

identify the correct answer using the

codes given below.

1. A census town should have a
minimum population of 5000

2. Inacensus town at least 75% of the
male main worker is engaged in
non-agricultural pursuits

3. In a census town the density of
population should be at least
400 per sq. km.

Codes :

(A) 1onlyis correct

(B) 2 only is correct

(C) 1and 2is correct

(D) 1,2 and 3 is correct

Consider the following statement and
identify the correct answer using the
codes given below.

1. The term metropolis is Greek
meaning mother city of a colony,
which sents out settlers.

2. A metropolis has a population of
4 million.

3. Metropolis is a very large city or
urban area which is a significant
economic, political and cultural
centre.

Codes :

(A) 1and 2 are correct

(B) 2 and 3 are correct

(C) 1 and 3 are correct

(D) 1 onlyis correct
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Consider the following statements and
identify the correct answer using the
codes given below.

1. Deflation and pedestal rock are
associated with aeolian landforms.

2. Barkhans and Sandunes are found
in glaciated regions.

3. Yardangs and Zuegens are the
characteristic features of arid
landforms.

4. Stalactites and stalagmites are
found in arid regions.
Codes :
(A) 1and 3 are correct
(B) 1 and 4 are correct
(C) 2 and 3 are correct
(D) 2 and 4 are correct

Identify the correct sequence of periods

in Palaeozoic era from old to new.

(A) Cambrian, Carboniferous, Permian,
Devonian

(B) Permian, Carboniferous, Devonian,
Cambrian

(C) Carboniferous, Permian, Cambrian,
Devonian

(D) Devonian, Carboniferous, Permian,
Cambrian

Assertion (A) : Chotanagpur beltis very
rich in mineral resources.

Reasoning (R) : Most of the rock

formations in this plateau are young.

Codes::

(A) Both A and R are true and R is the
correct explanation for A

(B) Both A and R are true but R is not
the correct explanation for A

(C) Aistrue but R is false
(D) Ais false but R is true

K-0817

@

19.

20.

21.

22.

Total Number of Pages : 16

Match List — | with List — Il and identify
the correct answer using codes given
below.

List—1 List—II
(Crop) (Major Producer)
Tobacco 1. Andhra Pradesh
. Sugarcane 2. Tamil Nadu
. Groundnut 3. Uttar Pradesh
Coconut 4. Gujarat
5. Kerala
Codes::
I Il Il v
(A) 1 2 3 4
(B) 4 3 1 5
C 2 1 4 3
D)y 5 4 2 1
As per 2011 census, the correct

hierarchical sequence of the given

districts of Karnataka in terms of the

level of urbanization is

(A) Dharwad, Dakshin Kannada,
Mysore, Bellary

(B) Mysore, Dharwad, Bellary, Dakshin
Kannada

(C) Dakshin Kannada,
Dharwad, Bellary

(D) Dakshin Kannada, Dharwad,
Mysore, Bellary

Mysore,

Which of the following is not a sun
synchronous satellite ?

(A) INSAT (B) IRS 1C

(C) SPOT (D) MOS1

The most important advantage of

microwave remote sensing is that

(A) It can see through haze, clouds,
snow and smoke

(B) Itis an active remote sensing

(C) It operates in the wavelengths of
approximately 1 mmto 1 m

(D) Its imagery can be obtained both
with low and high incidence angles

Paper Il
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24.

Assertion (A) : The temperature is
highest in the tropics and decreases
gradually towards the poles.

Reason (R) : There is an unequal
distribution of insolation on earth.

Codes::

(A) Both A and R are true and R is the
correct explanation for A

(B) Both A and R are true but R is not
the correct explanation for A

(C) Aistrue but R is false

(D) Ais false but R is true

Match the following weather instruments
(List — 1) with their respective uses
(List —I1) identify the correct answer from
codes given.

List—1 List—II
(Weather Instrument) (Uses)
I. Anemometer 1. Finding out
humidity
IIl. Aneroid barometer 2. Finding out
highest and
lowest
temperature of
air
lll. Six’s thermometer 3. Finding out
wind speed
IV. Wet and dry bulp 4. Finding out
Hygrometer wind direction
5. Measuring
atmospheric
pressure
Codes::
| Il Il v
A 1 2 3 4
(B) 5 1 4 3
) 3 4 2 1
(D) 4 1 2 3
K-0817
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25. Match List — | with List — Il and identify

26.

27.

the correct answer using the codes
given below.

List -1 List—II
(Terms) (Process)
I. Notch 1. Drainage Pattern
Il. Moraine 2. River Bed
lll. Monadnocks 3. Sea waves
IV. Dendritic 4. Glacier
Codes :
I Il Il v
(A) 2 1 3 4
B 1 3 4 2
) 3 4 2 1
(D) 1 4 3 2

Consider the following statements and
identify the correct answer using the
codes given below.
1. Uttar Pradesh has the largest area
under sugarcane among the States.
2. Punjab is the second largest
producer of sugarcane.
3. Tamil Nadu records the highest
yield of sugarcane.

Codes :

(A) 1and 3 are correct
(B) 1and 2 are correct
(C) 2 and 3 are correct
(D) Only 1is correct

Overshoot, undershoot and loop are
common errors during the process of
(A) Scanning

(B) Generalization

(C) Digitization

(D) Standardization
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Consider the following statements and
identify the correct answer using the
codes given below.

1. Mercator is the only projection in
which direction is maintained
correctly.

2. Bonne’s projection is suggested for
small and large areas of temperate
lands.

3. Bonne’s projection is more useful if
the area has nearly equal latitudinal
and longitudinal extent.

4. The parallels are not concentric

circles in polar zenithal
orthographic projection.
Codes :

(A) 1, 2,3 and 4 are correct
(B) 1, 2 and 3 are correct
(C) 2,3 and 4 are correct
(D) 4,3 and 1 are correct

Consider the following statements and
select the correct answer using codes
given below.
1. Radiation from the earth is called
terrestrial radiation.
2. Radiation from the earth is in the
form of short waves.
3. Objects that are good absorbers of
radiation are also good emitters.
4. The earth’s surface is good
absorber of the insolation.
Codes :
(A) 1, 2,3 and 4 are correct
(B) 1, 3 and 4 are correct
(C) 2,3 and 4 are correct
(D) 1, 2 and 4 are correct
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The winds blowing from the subtropical
high pressure areas towards the
equatorial low pressure belt are
extremely steady winds known as

(A) Periodic winds

(B) Westerlies

(C) Trade winds

(D) Monsoon winds

Norwesters are local thunderstorms that
are prominent in

(A) Punjab

(B) West Bengal

(C) Tamil Nadu

(D) Andhra Pradesh

Occlusion refers to the

(A) Origin of Tropical Cyclone

(B) Origin of Temperate Cyclone

(C) Termination of Tropical Cyclone
(D) Termination of Temperate Cyclone

Consider the following statements and
identify the correct answer from the
codes given.
1. Origin of human race is believed to
be Central Africa.
2. North Western Europe is having
predominantly Cacausoids.
3. Both the Americas have Indians
who are Cacausoids by their origin.

Codes :

(A) 1and 3 are correct
(B) 1and 2 are correct
(C) 2 and 3 are correct
(D) Only 3is correct
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Correct pair of countries which show
land boundary on all sides and sea
boundary on two sides is

(A) South Korea and Japan

(B) Sri Lanka and South Korea

(C) Nepal and South Korea

(D) lIsrel and Egypt

In the evolution of stages of a nation United
States of America is in the stage of

(A) Pre-agrarian

(B) Agrarian

(C) Industrial

(D) Post Industrial

Fishing is one of the major primary
activities of Japan and its share of world
fish production is about

(B) 20 per cent

(D) 14 per cent

(A) 8 percent
(C) 22 per cent

A population Pyramid with a wide base
narrowing as the age progress indicate
(A) Decline

(B) Rapid growth

(C) Slow growth

(D) Stability

An example for a nodal or focal point
around which the activities of the region
as a whole revolve is

(A) Metropolitan region

(B) Economic region

(C) Physical geographic region

(D) Socio-cultural region
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Under  Greeks contribution to
Geography correct sequence show the
age of scholars from old to new is

(A) Thales — Anaximander — Aristotle
(B) Anaximander — Thales — Aristotle
(C) Aristotle — Anaximander — Thales
(D) Aristotle — Thales — Anaximander

In the ancient Indian Geographical
Concepts equatorial belt and north pole
were referred respectively as

(A) Baduanala and Meru

(B) Kusa Dwipa and Puska Dwipa
(C) Niraksha Dwipa and Meru

(D) Bakshu and Pakshu

Post Roman scholar Cosmos has
written a book called

(A) Rerum Memorablum

(B) Archaeologia

(C) Christian Topography

(D) Geographicas

Match the List — | with List — Il and
identify the correct answer with the
codes given below.

List—1 List—1I
(Petroleum oil mine) (Region)
I. Prudhoe Bay 1. Canada
Il. Alberta 2. Alaska
lll. Maracaibo 3. Saudi Arabia
IV. Ain Dar 4. Libya
5. Venezuela
Codes :
I I 1} \Y]
A 1 2 5 3
(B) 5 1 4 2
(C) 2 1 5 3
(D) 1 2 4 5
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46.

Streams that develop on the initial slope
of an area are called

(A) Resequent

(B) Subsequent

(C) Consequent

(D) Insequent

Consider the following statements and
identify the correct answer using the
codes given below.

1. Regional disparities in levels of
development are due to availability
of natural wealth.

2. Regional disparities in levels of
development are due to disparities
in lack of technological attainments.

3. The cultural determinism does not
offer disparities in the level of
development.

Codes :

(A) 2 and 3 are correct
(B) 1and 2 are correct
(C) 1 and 3 are correct
(D) 2 only is correct

In 1971, L.S. Bhat proposed a three tier
regional scheme of 5 macro,

meso and 52 micro regions.

(A) 11 (B) 13

(C) 16 (D) 19

The term ‘Wind-Gap’ is associated with
(A) Aeolian action

(B) Fluvial action

(C) Glacial action

(D) Sea-Waves action

47.

48.

49.

50.
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Which one of the following is the correct
sequential order of Karst Landscape ?
(A) Uvala, Polje, Grike, Doline
(B) Doline, Polje, Grike, Uvala
(C) Polje, Grike, Uvala, Doline
(D) Grike, Doline, Uvala, Polje

Consider the following statements and
identify the correct answer using the
codes given below.

1. Agenda 21 of the Rio Summit
pertains to Sustainable
Development.

2. Earth Summit held at Rio de
Janeiro is the second UNCED.

3. Montreal Protocol aims to reduce
002 in the atmosphere.

Codes :

(A) Only 1is correct
(B) 1and 2 are correct
(C) 2 and 3 are correct
(D) 1 and 3 are correct

Which of the following represents
diverging plate boundary ?

(A) Pacific Coast of Asia

(B) Western Coast of Australia

(C) Mid-Atlantic Ridge

(D) Andes Mountains

The London Smog disaster that killed
more than 4000 persons happened in
(A) 1952
(B) 1958
(C) 1962
(D) 1968
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